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4, Ishmal sells high-definition televisions. He is paid a weekly salary of 20%
: commission of his total weekly sales. A .20 x wee L(y sale s -

a) Complete the table of values. ‘ b) Graph the relationship.
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c) Write an equation to model the refationship.
P=_0.26 +Q =0.1s S s wales

o b
T N 0,2 0’3
d) Determine Ishmal's pay if his sales for the week were $8000. Show your work.
P: o .2( %oqé\
=% &0

) Ishmal made $975. How much were his weekly sales? Show your work.
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Mathematics 9

Finding m and b at Different Scales Date:
4ot” 14
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1. Equation of line: 2. Equation of line:
— 2 :
W= D240 v N= B Y= Ty
24‘ Y A\ 8 Y
N
18 6
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12 4
& p D
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-8 -6 —4 2 0 2 4 6 -14 -12-10 -8 -6 —4 -2 " 2 6 10 12 14
1
A ‘5 =L
- 4
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m= > b= =19. m= — % b= 3
3. Equation of line: 4, Equation of line:
T
V=2 ,_q Y= "= 43
a5 4e

© YRDSB




Mathematics 9

Finding m and b at Different Scales Date:
?:Ly X 8Ly
% \i- x
—40 {30 § 20 { -10 NJo [ 10 {20 {30 { 40 32 | 24 | -16 | -8 0 s | 16 32
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m= > -1 |p= - m= -4 _ b= 3
30 & |~
5. Equation of line: 6. Equation of line:
Y= Lo —| Yo —lot
z = + 3
2412 a0
18 30
12 20
£. / 1 3
6 ‘ 5
Ri x
-40 ~-30 20 -10 0 10 30 40 i -80 -60 -4 -20 0 20 40 80
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—6 1: 10
12} ST 20
18 30
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s
6 st
m= — = = b= -9 m= — — — b= S
1S S 367 2

7. Equation of line:

—_— 2 h
= 25

8. Equation of iine:

Y= L 2zelS
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